# BEDROCK SOY CANDLE PRODUCTS

#### At-A-Glance Price Sheet - Effective 1.1.2024

ITEM TYPE	ITEM OPTIONS	ITEM ID PREFIX	Single Price Each	6-Pack COST Mix and Match	MSRP EACH x 2.15		
NATURAL 100% SOY CANDLES							
LIBBEY STATUS JAR Wooden Wick	Libbey Status Jar 21 oz.	LSJ21	\$18.95	\$113.70	\$40.74		
	Libbey Status Jar 12 oz.	LSJ12	\$13.75	\$82.50	\$29.56		
	<b>Libbey Status Jar</b> 8 oz.	LSJ8	\$10.50	\$63.00	\$22.58		
	<b>Libbey Status Jar</b> 2.75 oz.	LSJ275	\$7.75	\$46.50	\$16.66		
GALVANIZED PAIL	Galvanized Pail 12 oz.	P12	\$13.25	\$79.50	\$28.49		
Wooden Wick	Galvanized Pail 3 oz	Р3	\$5.60	\$33.60	\$12.04		
MASON JAR Cotton Wick	Mason Jar 8 oz.	MJ8	\$8.25	\$49.50	\$17.74		
TUMBLER Cotton Wick	Libbey Glass Tumbler 7 oz.	LT7	\$7.60	\$45.60	\$16.34		
VASE CANDLE	CLEAR GLASS CYLINDER 32 oz. with center <b>WOODEN WICK</b> and <b>3</b> outer <b>COTTON WICKS</b> . Comes gift boxed	V32	\$28.25	4-Pack \$110	\$60.74		
TUREEN JAR	Tureen Jar 6 oz.	TJ6	\$7.60	\$45.60	\$16.34		
Cotton Wicks	Tureen Jar 3.5 oz.	TJ35	\$5.25	\$31.50	\$11.29		
METAL TIN Cotton Wick	Tin - Clear Window Lid 4 oz.  Tin w Metal Slip-on lid 2 oz.	CT4 CT2	\$5.80 \$3.76	\$34.80 \$21.90	\$12.47 \$8.08		
ITEM TYPE These items are shipped in display boxes	SHIP PACK 12 COUNT ITEM OPTIONS Must order in multiples of 12 (You may mix scents in 12 pack)	ITEM ID PREFIX	Single Price Each	12-Pack cost	MSRP EACH x 2.15		
VOTIVES	Votive in Frosted Glass jar- Hand poured 2.5 oz.	VH	\$3.30	\$39.60	\$7.10		
MINIS	Mason Mini Jar - 1.25 OZ.	MJ125	\$2.65	\$31.80	\$5.70		
MELTS  Cube Melt pack - 3.5 OZ. Available Fir Needle Natural only		CMN	\$4.15	\$49.80	\$8.92		

Prices subject to change.

Opening Order Minimum \$250.00

Minimum Reorder is \$120

#### BEDROCK TREE FARM FIR NEEDLE PRODUCTS

401-789-0645

401-783-4618 fax
Tom and Angie Geary
106 Woodland Trail
Wakefield, RI 02879
bedrocktreefarm@ymail.com
BedrockWholesale.com

BEST SELLER!
LSJ12NAT

Place your order with Item ID followed by Scent ID Ex: If you want a 12 oz. Libbey Status Jar in the Fir Needle Natural Scent, order: LSJ12NAT

#### **CANDLE SCENT-ID**

# Available in Libbey Jars, Votives, Minis, and Libbey Tumblers

Fir Needle Natural-NAT
Fir Needle Green-GRN
Fir Needle Burgundy-BUR
Bayberry-BAY
Cinnamon/Rosemary-CIN
Juniper-JUN
Beach Rose-ROSE
Lavender-LAV
Shiso-SHI
Lemongrass-LEM
Honeysuckle-HON

#### **CANDLE SCENT-ID**

\*\*ALL\*\* containers except Cube

Melts

Fir Needle Natural-NAT
Bayberry-BAY
Beach Rose-ROSE
Lavender-LAV
Lemongrass-LEM

#### BEDROCK CANDLE VESSEL OPTIONS

CURRENT PRICING 1.1.2024

LIBBEY JARS,
VOTIVES,
MINIS, AND
LIBBEY
TUMBLERS are
available in all
scent options.





CT4 CT2 \$5.80 \$3.76

CANDLE TINS





**GALVANIZED PAILS** 

TUREENS,
TINS, PAILS,
MASON 8's
are available in
Fir Needle
Natural,
Bayberry,
Lavender,
Beach Rose,
and
Lemongrass
only.



# VASE available in Fir Needle Natural, Lavender, and Beach Rose only. LT7 VH V32 \$28.25

**VASE** 

**TUMBLER** 

**VOTIVE** 

#### **SOY WAX CUBE MELTS**



\$4.15 ea.
Order in 12-packs
Fir Needle Natural only.

#### **DP110 COUNTER DISPLAY - LIBBEY JARS**

#### Bill to: BEDROCK TREE FARM FIR NEEDLE PRODUCTS **Tom and Angie Geary** 401-789-0645 401-783-4618 fax Ship to: 106 Woodland Trail Wakefield, RI 02879 bedrocktreefarm@ymail.com BedrockWholesale.com CONTACT: PHONE: EMAIL: Choose One Option 🗸 NATURAL - All Fir Needle Natural -No Color We ship in 6 or 12 pack boxes. HOLIDAY - Mix of Fir Needle Natural, Green, Burgundy, Bayberry, Juniper, and Cinnamon/Rosemary SUMMER - Mix of Beach Rose, Lavender, Shiso, Lemongrass, Juniper, Honeysuckle QTY ITEM ID DESCRIPTION **ORDERED** DP110 3-Tier Wooden Counter Display w signage 1 LSJ21 Libbey Status Jar 21 oz. 3 LSJ12 Libbey Status Jar 12 oz. 6 LSJ8 6 Libbey Status Jar 8 oz. LSJ275 Libbey Status Jar 2.75 oz. 6

Votive 12 ct. Display

Mason Mini 12 count 1.25 oz.

VH

MJ125

#### **OPENING ORDER MINIMUM \$250.00** MINIMUM RE-ORDER \$120.00

Add-ons below

Use your mobile phone or device camera to scan the code to go direct to webpage to see this display.

Thank you for your order.

ORDER TOTAL	
Shipping	
TOTAL DUE ON SHIP DATE	

Order Date

**Ship Date** 

Terms

PO#

REP

TOTAL

**AMOUNT** 

\$35.00

\$56.85

\$82.50

\$63.00

\$46.38

\$39.60

\$31.80 \$355.13

**PRICE** 

**EACH** 

\$35.00

\$18.95

\$13.75

\$10.50

\$7.73

\$39.60

\$31.80

1

CARD #		
BILLING ZIP	NAME	CODE:
NOTES:		

# **DP102 FLOOR DISPLAY - LIBBEY JARS**

BEDROCK TI	REE FARM	Bill to:			Order Date	
FIR NEEDLE PRODUCTS Tom and Angie Geary 401-789-0645 401-783-4618 fax 106 Woodland Trail Wakefield, RI 02879 bedrocktreefarm@ymail.com					Ship Date	
		Ship to:			Terms	
BedrockWho					PO#	
CONTACT:	PHONE:			REP		
EMAIL:						
Choose One Option 🗸	NATURA	L - All Fir Needle Natural -No Color				
		Y - Mix of Fir Needle Natural, Green, Burgundy, per, and Cinnamon Rosemary				
		R - Mix of Beach Rose, Lavender, Shiso, uniper, Honeysuckle				
ITEM ID		DESCRIPTION	QTY ORDERED	PRICE EACH	TOTAL AMOUNT	
DP102		Free-Standing Floor Display with signboard, rack holder, signage - Drop Shipped from Maine	1	\$115.00	\$115.00	
MJ125	Mason Minis S	Set of 12 - 1.25 oz. in Display Box	1	\$31.80	\$31.80	
VH	Votive Set of	12 - 2 oz. in Display Box	1	\$39.60	\$39.60	
LSJ8	Libbey Status	s Jar 8 oz.	15	\$10.50	\$157.50	
LSJ12	Libbey Status	s Jar 12 oz.	11	\$13.75	\$151.25	
LSJ21	Libbey Status	s Jar 21 oz.	3	\$18.95	\$56.85	
LSJ275	Libbey Status	s Jar 2.75oz.	3	\$7.75	\$23.25	
MJ125	Mason Minis	1.25 oz. extras for bottom bin	24	\$2.65	\$63.60	
		Add-ons below			\$638.85	
				ORDER TO	ΓAL	
(P)	1.4.7	NING ORDER MINIMUM \$250.00 INIMUM RE-ORDER \$120.00				
Thank you for your order.			Shipp			
Use your mobile phone or device camera to scan the code to go direct to webpage to see this display.				TOTAL DUE C SHIP DATE		
CARD #	CARD #				/	
BILLING ZIP _	NAME		CODE:_			
NOTES:						

# BEDROCK BODY CARE

### At-A-Glance Wholesale Price List - Effective 1.1.2024

ITEM	DESCRIPTION	ITEM ID / APPROX. SIZE	Single Price Each Item	6-pack cost	MSRP EACH
BEDROCK BAR	Fir Needle Soap in recloseable clamshell. Approx. 4 oz.	4 oz.	\$4.25	\$25.50	\$9.14
BODY BUTTER	8 oz. PET Jar	CBB8	\$11.25	\$67.50	\$24.19
	4 oz. PET Jar	CBB4	\$6.45	\$38.70	\$13.87
	2 OZ. PET Jar	CBB2	\$5.40	\$32.40	\$11.61
FIR NEEDLE SEA SALT SCRUB	6 oz. Clear PET Square Jar	CSS6	\$5.25	\$31.50	\$11.29
Order in Multiples of 12 only	Description	ITEM ID	Single Price Each Item	12-pack cost	MSRP EA
FIR TREE SOAPS	2.5 oz. Soaps in 12 pack display	FT102SHEA12	\$3.15	\$37.80	\$6.77
LOBSTER SOAPS (Bear, Fish, or Moose)	2.5 oz. Soaps in 12 pack box (for Wooden Lobster Trap add \$7.00)	LOB106Set12 BEAR25Set12 FISH104Set12 MOOSE25SET12	\$3.15	\$37.80	\$6.77

## Prices subject to change at any time

Go to **BedrockWholesale.com** for more information.

#### **SEA SALT SCRUB**



6 OZ. JAR \$5.25



BEDROCK BAR
SHEA FIR NEEDLE SOAP IN
RECLOSEABLE PLASTIC
CLAMSHELL FOR
OUTDOOR/TRAVEL
4 OZ. \$4.25



FT102 - 2.5 oz.- \$3.15 Sold in sets of 12 only

(Lobster, Bear, Fish, and Moose also available in 2.5 oz 12 pack)



#### BODY BUTTER With Shea Nut and Cocoa Butter

PET
PLASTIC
JARS

4 OZ. JAR \$6.45

8 OZ. JAR \$11.25

2 OZ. \$5.40



BEDROCK TREE FARM FIR NEEDLE PRODUCTS Order Form 401-789-0645 401-783-4618 fax Tom and Angie Geary		Bill to:	Order Date				
						Ship Date	
		Ship to:				Terms	
106 Woodland Wakefield, RI		_					
bedrocktreefarm@ymail.com BedrockWholesale.com		_				PO#	
Dear ock vv note	saie.com						
CONTACT:			PHONE:			REP	
EMAIL:							
We ship in 6 or 12 pack boxes. Mix and Match in 6 or	_	Rose, Lave	ers - Fir Needle Natural, Bayberry, Beach ender, Lemongrass	ORDER by each single item count.			
12 count totals.	Additional Scents available in Libbey, Votives, Minis, Tumblers only Honeysuckle, Juniper, Fir Needle Green and Burgundy, and Cinnamon/Rosemary			Not Pack Count	IOIAL		
ITEM ID		DES	CRIPTION	QTY ORD	PRICE EAG	CH AMOUNT	
					ORDER TOTA	AL	
			EDER MINIMUM \$250.00				
			re-order \$120.00		SHIPPING		
		nobile phone or device camera to scan the code to go ur wholesale website.			TOTAL DUE C SHIP DATE		
CARD#					EXP:		
			NAME				
NOTES:							